
Solve a Problem  1st Feb 2019 

 

Junior 

Isaac brushes his teeth three times a day.  

How many times does he brush his teeth every 

week? 

 

 

 

 

All 

 

 

 

Challenge 

 

Three trios of consecutive numbers less 

than 100 all of have exactly two pairs of 

factors. 

Two of the trios are highlighted.  

Find the third one! 

 
85=  1x85  5x17           93 = 1x93  3x31 

86=  1x86  2x43           94 = 2x47  1x94     

87=  1x87  3x29           95 = 1x95  5x19 
 

What fraction of the 

whole shape is red? 



 

 

  


